Fh285K (201 658) FETHPEE (16. 8. 297#K)
SC: RI—=)Vho 25—

$C : BFRAY S —

10H 1158 128
=3y XESER TREER R TS
1 |Klieapms +|Eismany x) HOMHZ A
ZES ANE O—RR>>T747
2l A JK|ALT &lF5S 4
SE = FEBR(TOM XEDH TPEREAS |
3|x P/ T
SE = D EAREIES TPEREAE |
4 |B|Ssmeie x|wmme BN el tnbe 6-6m) |B
(EBPERK)
5|8 k o |x
FURES IR FUEHE|
6 K " = K E 1) %4 ® =
ANE Rl ANHE
7 |7k £ v|A IK|ALT
(i3 TEES
8 |K|fEEmem + X A
v
SHE THEX TREETRE) 55
9 |&|mmKEkAS =] K &lE5Ee 34m)
ERE EiEmHY
#FEDH e PELAHERBETRE |
10|t B Kekmmors |t
TRREC IR
11]E ) slmzEE (18 (B
YAY:] = =
12|18 K|ALT 1| 2
LBEVDORFAM (1-2%F) =
13| % & 5| %
XN EF-ES FHRTTD) SIVE
14|/k|ALT &\ Z5ES 5-65) |R 7k
REES TEES
15|47 + X AT
757 BXEETS HEERD 555
16|&|ZBHES (1F) H K|ZR/NE - ALT £
Bﬁ(((%’\ﬁ
IJL.E %
17| B PN +
557
18|H X &FRES 2F) =]
BZ0H XNE
10|B|@E2mm (-2%) |k + 2
REES
20[% K|[ETE z x)
XINE FAEERE BAEX (7%
21}k 2|555 A KEBmey
W5 OH EET—HAE BER
22| + X T |KsEET
557 HEEHOH REHEH
23|& 5| K|EaHay &
BEES
24|+ A A +
25(| X & =]
BEGEDEE (5-65F) J)VE XFEHE (~177)
26|A K|ALT + 2
TEES
27|k & < F—#5=|8 %
SIVE 557
28|7k|ALT & 7 R 7K
REES = 7%
oolK + X x
EEEGE (T5T) SIVE
30|05 B IK[ALT
31 B
A4
K3 BB B S R R R
Ef




